
6 Repeat steps 1-5 for the other accessory bar.

2

1

4
5
6

7

3
8

Slide the bar into the tray along with the channel nut 
inside the c-channel. Tighten and add in vortex strip.

1 Skip to step 4 if you know the part number of the tray or 
will not be mounting it to the outer side plank. 

Slotted end (all trays)

42107, 44100, 42109, 42102, 
44102, 42100, 42105

42107, 44100, 
42109, 42102, 
44102, 42100, 
42105

42115, 42114, 42112, 
42111, 42108, 42104

Outer side Mount

For all trays

Socket Head Bolt

Spring Washer

Flat Washer

Channel nut

           

43232B - Pioneer Accessory Attachment Small Bar

Page 1 of 1

4

Rhino-Rack
3 Pike Street, Rydalmere, 
NSW 2116, Australia. 
(Ph) (02) 9638 4744  
(Fax) (02) 9638 4822
These instructions remain the property of Rhino-Rack Australia Pty Ltd 
and may not be used or changed for any other purpose than intended.

Item Component Qty Part No.
1 Small Accessory Bar 610mm 2 A807
2 Vortex Strip 4 M626
3 End Cap 4 M710
4 M6x16 Socket Head Bolt 6 B031
5 M6 Spring Washer 6 W004
6 M6 Flat Washer 6 W003
7 M6 Channel Nut 6 N002
8 5mm Allen Key 1 SECKEY-S
10 Fitting Instructions 1 R1095

Document No: R1095
Prepared By: Peter Luu
Authorised By: Chris Murty 
Issue No:  02
Issue Date: 30/01/2017

Important: Please read these instructions carefully prior to installation.
Please refer to your fitting instruction to ensure that the alloy tray is installed correctly.
Check the contents of this kit before commencing fitment and report any discrepancies.

5

If the bar is on the tray, slide it back out. Assemble the 
hardware with the noted holes from step 3 or if you 
know the part number of the tray follow the guide below.

Assemble the hardware on just the slot of the bar. 
Finger tighten. Push the end caps in both ends.

2

Slide the bar into the tray by gliding the channel nut 
inside the c-channel. Adjust the bar to the left or right 
until each channels from the tray aligns with a hole in 
the bar. Take note of the hole positions.

3

TOP VIEW

TOP VIEW

NOTE: Not compatible with Master Fit Roof Box

Inner Plank Mount

Hardware Setup

rodr
Small Controlled


